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VOCABULARY - 14 
 
1. The doctor ---- my little brother with sunburn, 

because it turned out that it was actually an 
allergic reaction. 

 
A) coincided 
B) appealed 
C) supplied 
D) moistened 
E) misdiagnosed 

 
 
 

2. The main ---- of the present study is to 
determine the effects of smoking on infertility 
seen in young Italian men. 
 
A) research 
B) revelation 
C) purpose 
D) conclusion 
E) embracement 

 
 
 

3. Eddie’s wife was ---- about his coming home 
late from work all week, but he said he was 
having coffee with the boys. 
 
A) influential 
B) amazed 
C) hopeful 
D) concerned 
E) destructive 

 
 
 

4. Salvatore got dressed and left the house ----, 
knowing that being late one more time would 
cause him to get fired. 
 
A) patiently 
B) hurriedly 
C) leisurely 
D) properly 
E) exclusively 

 
 
 

5. Students living on the campus don’t have to 
spend time taking the bus, so they have a 
tendency to ---- more of their time to after-
school activities than the others. 

 
A) dedicate 
B) obtain 
C) narrate 
D) withdraw 
E) struggle 

6. Since these mosquitoes have already been 
exposed to various types of insecticides, they 
have developed ---- to these drugs. 
 
A) contribution 
B) deprivation 
C) resistance 
D) generosity 
E) eruption 

 
 
 
 
 

7. Did the British consulate answer your 
question about whether one-month visas are 
still ----? 
 
A) inventive 
B) wasteful 
C) curative 
D) available 
E) intentional 

 
 
 

8. Temperature is a major factor that needs to 
be ---- controlled in the greenhouse. 
 
A) fiercely 
B) properly 
C) reluctantly 
D) innocently 
E) confidently  

 
 
 
 

9. Most people are busy with farming in this 
area and the plateau is ---- for its cheese and 
meat. 

 
A) grown 
B) raped 
C) gained 
D) based 
E) known 

 
 
 

10. Although Denis derived no ---- from studying 
his math homework, he did it anyway. 
 
A) pleasure 
B) approach 
C) reluctance 
D) exploitation 
E) description 
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11. If you are reading a book just for pleasure 
and don’t study it or make a great effort to 
understand each detail, this kind of reading is 
----.  
 
A) profound 
B) intensive 
C) superficial 
D) deliberate 
E) appropriate 

 
 
 
 

12. The state of California has issued new rules 
that will ---- reduce the amount of dangerous 
mercury sent to landfills each year. 
 
A) greatly 
B) closely 
C) highly 
D) loosely 
E) placidly 

 
 
 

13. I knew that she would be able to persuade the 
rich couple to ---- in our new company, and 
so she did.  

 
A) avoid 
B) insist 
C) deny 
D) insult 
E) invest 

 
 
 

14. There is no point in responding to Brian’s 
desperate attempts to get ---- because it will 
only make him act even more childishly. 
 
A) objection 
B) impression 
C) attention 
D) abolition 
E) destruction 

 
 
 

15. Stopping tobacco smoking is apparently one 
of the most ---- things you can do unless you 
want to suffer further health problems. 
 
A) progressive 
B) indifferent 
C) sensible 
D) awkward 
E) inappropriate 

 

16. Potassium, which is one of the significant 
body minerals, is ---- important to both 
cellular and electrical function. 
 
A) lately 
B) formerly 
C) lastly 
D) previously 
E) highly  

 
 
 
 
 

17. You will be severely ---- for the part you 
played in breaking the television.  

 
A) invited 
B) punished 
C) prevented 
D) contributed 
E) discouraged 

 
 
 
 

18. In accordance with the provisions of the Law 
on Turkish Citizenship, Turkish citizenship 
could be acquired by birth, taking into ---- the 
place of birth. 
 
A) account 
B) description 
C) burden 
D) impression 
E) contradiction 

 
 

19. What a shame! It was ---- of you to tell your 
mom that her soup tasted horrible. 
 
A) slight 
B) brilliant 
C) willing 
D) urgent 
E) insensitive 

 
 
 
 

20. Current energy systems based on fossil fuels are 
---- responsible for the present humanitarian, 
environmental, and economic crisis. 
 
A) gently 
B) clumsily 
C) largely 
D) distantly 
E) concisely 
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21. The brain activity for music and language is 
enormously complicated, and researchers are 
still trying to ---- how the brain ---- each 
process. 
 
A) make out / gives up 
B) set off / copes with 
C) make up / deals with   
D) work out / carries out 
E) figure out / looks into 

 
 

22. Although every philosopher since Plato has 
considered the relationship between humour 
and laughter, Freud was the first person to     
---- with a conclusive theory. 
 
A) get into 
B) come up 
C) look out 
D) put forth 
E) carry out 

 
 

23. In order to ---- whether someone has a 
depression, the person involved should be 
examined by a psychologist or a psychiatrist. 

 
A) find out 
B) wake up 
C) carry out 
D) put up 
E) pass out 

 
 

24. We were able to succeed in ---- with our rival 
companies due to our perfect policies. 
 
A) putting away 
B) getting down 
C) catching up 
D) breaking out 
E) looking forward 
 
 

25. While advances in medicine and surgery over 
the past century have sharply reduced 
mortality, they have also ---- new diseases 
that can be just as dangerous and deadly. 

 
A) given rise to 
B) cut down on 
C) opened up to 
D) taken part in 
E) done away with 
 
 
 
 
 

26. Various anti-corruption agencies have been 
set up in order to ---- corruption in Nigeria, 
but the problem remains unresolved. 
 
A) turn down 
B) cope with 
C) fall apart 
D) show off 
E) go through 
 
 
 

27. An apparently harmless invention may ---- to 
be harmful when misused or abused by 
people who are in pursuit of money or power. 
 
A) turn out 
B) put down 
C) make out 
D) give away 
E) carry out 
 
 
 

28. An employer should hire employees ---- their 
qualifications, not according to their gender. 
 
A) sent for 
B) taken up 
C) based on 
D) signed up 
E) found out 

 
 
29. Towards the end of the nineteenth century, 

when industries in Europe began to compete 
with each other, they ---- the cheapest and 
easiest access to raw materials. 
 
A) fell through 
B) threw away 
C) carried on 
D) broke down 
E) searched for 

 
30. If the expansion rate of the universe is ----, 

then the size of the universe increases more 
rapidly with time than if the expansion were 
slowing down. 
 
A) taking on 
B) bursting into  
C) running down 
D) speeding up  
E) putting through 
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31. It is estimated that if people continue to use 
fossil fuels ---- present rates, most supplies 
will run ---- within the next two centuries. 
 
A) for / with 
B) of / off 
C) by / down 
D) in / up 
E) at / out 

 
 

32. To become a medicinal chemist, you should 
have exceptional communication skills so 
that you will have the ability ---- convey the 
results ---- research to others. 

 
A) of / in 
B) with / off 
C) to / of 
D) at / from 
E) by / with  

 
 

33. Miletus had long been a part ---- the Greek 
world, but Babylonian influences also shaped 
Milesian culture ---- important ways. 

 
A) of / in 
B) at / over 
C) by / from 
D) in / aside 
E) about / behind 

 
 

34. Studies of structural differences in the brains 
of people of all ages show differences 
between people ---- and ---- reading 
disabilities. 
 
A) from / to 
B) about / at 
C) among / of 
D) between / for 
E) with / without 
 

35. Australia has excellent research infrastructure 
---- life science and physical science, a 
powerful emphasis ---- collaborative projects 
and shared facilities. 

 
A) by / in 
B) for / on 
C) to / from 
D) below / as 
E) off / between 

 
 
 
 
 

36. Georgia is a small country ---- American 
standards, with 5.5 million people, 
comparable in area ---- West Virginia.  

 
A) for / in 
B) by / to  
C) on / over 
D) with / into 
E) of / around 
 
 

37. One of the most advantageous attributes of the 
camel ---- drought areas is its ability to utilize 
plants that grow well ---- arid conditions. 
 
A) at / in 
B) by / with 
C) to / near 
D) on / over 
E) in / under 

 
 
 

38. Insect bites and stings can be dangerous, 
especially if a person is allergic ---- them. 
 
A) to 
B) with 
C) about 
D) from 
E) against 

 
 
 

39. Because they do not respond ---- a normal 
fashion to punishment, reward-based treatment 
seems to work best ---- psychopaths. 
 
A) to / for 
B) at / by 
C) in / with 
D) on / off 
E) of / into 
 
 

40. Unfortunately, some tumours, such as those 
in the stomach, pancreas, or kidney, respond 
only partially ---- radiation therapy. 

 
A) at 
B) for 
C) about 
D) to 
E) across 
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ANSWER KEY 
1 E 9 E 17 B 25 A 33 A 
2 C 10 A 18 A 26 B 34 E 
3 D 11 C 19 E 27 A 35 B 
4 B 12 A 20 C 28 C 36 B 
5 A 13 E 21 D 29 E 37 E 
6 C 14 C 22 B 30 D 38 A 
7 D 15 C 23 A 31 E 39 C 
8 B 16 E 24 C 32 C 40 D 
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